
Term 1 Week 15 – Defence 
 

 A 8 7 

 Q 10 3 

 A 9 7 6 

 A 3 2 

 10 5 3 2  J 9 4 

 A 9 2  K J 6 5 4 

 10 3 2  J 5 

 10 8 5  Q J 4 

 K Q 6 

 8 7 

 K Q 8 4 

 K 9 7 6 

Board 1 : Dealer North : Love all – HB54 B1 
 
West North East South 
 1NT Pass 3NT 
All Pass 
 

East leads a fourth highest 5. West plays A (third hand high) and 

returns his partner’s suit, 9. The defenders take the first five heart 
tricks. 

 J 9 

 10 9  

 A Q 8 6 5 

 Q 10 4 3 

 K Q 5 4  A 6 2 

 Q 8 3  A K 7 6 5 4 

 K J 10  7 4 3 

 K 8 7  2 

 10 8 7 3 

 J 2 

 9 2 

 A J 9 6 5 

Board 2 : Dealer East : NS vulnerable – HB55 B2 
 
West North East South 

  1 Pass 

1 Pass 2 Pass 

4 All Pass 
 

South leads 9,  top of a doubleton. Declarer will probably play 10 

from dummy. North wins Q and because there is no diamond missing 

higher than 9 he can tell South has led a singleton or doubleton. North 

cashes A, gives South a diamond ruff and A is the fourth defensive 
trick. 

 Q J 6 

 A 8 7 

 K Q J 4 

 9 6 5 

 A 5 4  10 8 3 2 

 K Q 5 4 2  J 3 

 7 5  10 8 3 2 

 10 8 4  Q J 7 

 K 9 7 

 10 9 6 

 A 9 6 

 A K 3 2 

Board 3 : Dealer South : EW vulnerable – HB54 B7 
 
West North East South 
   1NT 
Pass 3NT All Pass 
 

With only two heart honours West should lead a fourth highest 4 

against no-trumps. Declarer should withhold his A. East plays J 
(third hand high) and returns his partner’s suit. West persists with hearts 

to force out A and when he gains the lead with A he cashes enough 
hearts to beat the contract. 

Suppose West wrongly leads K. It wins the trick. West  can only 

continue 4, and East’s J wins. Now East has no heart to return. 

 A Q 10 9 6 

 6 5 2 

 Q 3 

 8 7 2 

 K J 5 4 2  7 

 K Q J 7  10 9 8 

 A 8 2  K 7 6 4 

 6  K J 5 4 3 

 8 3 

 A 4 3 

 J 10 9 5 

 A Q 10 9 

Board 4 : Dealer West : All vulnerable – HB55 B8 
 
West North East South 

1 Pass 1NT Pass 

2 All Pass 
 
With good spades, declarer’s first suit, North should be very keen to 
prevent declarer ruffing spades in dummy. He leads a trump. South 

wins A and returns 3. Declarer wins and may cross to dummy’s K 
to take a spade finesse. North wins as cheaply as possible and plays 
his last trump. Deprived of any spade ruffs in dummy declarer will now 
struggle to make more than five tricks if North keeps leading clubs and 
South leads spades and diamonds. 



Term 1 Week 15 – Defence 
 

 K J 9 

 A J 8 7 

 10 7 3 

 A 7 6 

 8 7 4 3  6 5 2 

 K 10 9  6 5 4 

 9 2  A K Q J 

 8 5 3 2  10 9 4 

 A Q 10 

 Q 3 2 

 8 6 5 4 

 K Q J 

Board 5 : Dealer North : NS vulnerable – HB57 B1 
 
West North East South 
 1NT Pass 3NT 
All Pass 
 

East cashes A K Q J. From then on the contract is defeated if West 

keeps his K for dummy’s Q. For example, if East switches to a heart 

at trick 5 and dummy plays low, West must play 9. Alternatively, if 

declarer ever leads Q from dummy West must cover with K, 

promoting a trick for his 10. 

 K 4 3 2 

 10 9 8 

 8 5 2 

 J 6 5 

 J 5  A Q 10 9 8 7 

 J 6 2  7 4 3 

 K J 9  A Q 10 

 K Q 7 4 2  A 

 6 

 A K Q 5 

 7 6 4 3 

 10 9 8 3 

Board 6 : Dealer East : EW vulnerable – HB57 B6 
 
West North East South 

  1 Pass 

2 Pass 3 Pass 

4 All Pass 
 

South cashes A K Q. From then on the fate of the contract depends 

on what happens when declarer leads J from dummy. If North covers 

with K declarer loses no spade trick.  If North keeps his K declarer 
has an inescapable trump loser. Declarer doesn’t have enough spades 

in dummy to catch North’s K. 

 - 

 7 6 5 4 2 

 10 7 6 3 2 

 Q 9 8 

 Q 10 3 2  K J 7 6 5 4 

 10 9 8  J 3 

 A J  K Q 

 A 10 7 2  K J 3 

 A 9 8 

 A K Q 

 9 8 5 4 

 6 5 4 

Board 7 : Dealer South : All vulnerable – HB59 B3 
 
West North East South 
   1NT 

Pass 2 2 Pass 

4 All Pass 
 

South starts with A K Q. Declarer ruffs and drives out A. He regains 

the lead and draws trumps. Who has Q?  South started with A K Q 

and A. That makes 13 points. With Q South would be too strong for 

1NT, so North has Q. Declarer draws trumps and finesses J. 

 K Q 7 2 

 10 9 8 

 7 

 A 8 6 3 2 

 A J 10  8 4 

 K Q J  6 2 

 J 9 8 4 2  A K Q 10 5 3 

 J 4  K 10 7 

 9 6 5 3 

 A 7 5 4 3 

 6 

 Q 9 5 

Board 8 : Dealer West : Love all – HB59 B12 
 
West North East South 
1NT Pass 3NT All Pass 
 

North leads 3. Declarer probably plays low from dummy and South’s 

Q wins. South returns 9 and North should play 2 to keep open 

communications for clubs. Declarer takes dummy’s K and might try a 
low heart. If South plays low declarer has 9 tricks, but South should 
count his own side’s tricks. South knows that North started with 5 clubs, 

(3 was fourth highest: 2 was fifth highest). South also knows that 

North has A (he has already seen West’s two clubs)  South should 

rise with A and return his last club.  

  


